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4 5% A % i T A

o A (HUATE < 1)

K H & 4
1 A B k& O F O OH 3
1 { H h 3
2 A & 25, 254
1t = & i N 25, 254
3 s & 1
1 #% [ & 1
4 & Y A 9,201
1 Ak A 9,201
% = 7 34, 459
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2 A & 25, 254
3 R el & 1
4 1N A 9,201

% = G 34, 459
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(BfZ - TH)

AR T RO L L fis @ ooy b
3 0 0.01

28,075 A2,821 73.29

1 0 -

10, 938 A1,737 26. 70

39,017 A4, 558 100. 00
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% 7% 4, 220
5 1 29, 239
it 7z 1, 000
N 2 34, 459
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¥ & E 7 BB O M BN R
o % & M & e B B 4 b
BYie | W 5 & | o | OdR
A4, 558 4,220 12. 25
0 29, 239 84. 85
0 1, 000 2.90
A4, 558 34, 459 100. 00
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K AR JE Al A B JEA

{5 LR B OV Bkt 3 3 0
L AR 3 3 0
1 iR v &7 — sl Ak 3 3 0
WAS 25, 254 28,075 N2, 821
1 fh et A< 25, 254 28,075 N2,821
I —H et S 25, 254 28,075 N2,821
PR 1 1 0
1 PRI 1 1 0
1 il 1 1 0
A LINA 9,201 10, 938 A1, 737
1 A 9,201 10, 938 A1, 737
1M A 9,201 10, 938 A1, 737
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1 — WA 8,778 4, 220
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17t 4% 26, 298 26, 744
2 M 2,941 2, 495
(e 1, 000 1, 000
T 1, 000 1, 000
1 P& 1, 000 1, 000
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